



OFFICE OF THE CITY MANAGER



TO: Honorable Mayor and Members of the City Council
FROM: Patrick Urich, City Manager *Patrick Urich*
DATE: April 2, 2015
SUBJECT: Issues Update

The following are issues related to the City for the weekly Issues Update. If there are additional items you believe should be included, please let me know.

Emergency Communications Center Report: March 2015

Attached is the ECC Report for the month of March.

Site Plan Review Board Agenda

The Site Plan Review Board (SPRB) agenda from March 30th is attached. Any questions related to the listed projects should be directed to the Planner assigned to the case.

Housing Court Cases

The list of housing court cases scheduled for April 7th is attached.

Code Violation Cases

The list of Code violation cases scheduled for April 7th is attached.

**Emergency
Communications
Center**



**Monthly Report
March 2015**

**Peoria
9-1-1**

CITY OF PEORIA
EMERGENCY COMMUNICATIONS CENTER 2015 ANNUAL REPORT

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	TOTAL	2014 Totals
Landbased 9-1-1 Calls	2,326	2,036	2,386										6,748	27,714
Wireless 9-1-1 Calls	6,822	5,837	6,516										19,175	76,573
TOTAL 9-1-1 CALLS	9,148	7,873	8,902	0	25,923	104,287								
Peoria Police Incoming Calls	7,072	6,425	7,428										20,925	93,002
Sheriff's Police Incoming Calls	2,486	2,274	2,417										7,177	32,833
TOTAL POLICE INCOMING CALLS	9,558	8,699	9,845	0	28,102	125,835								
Volunteer Fire/EMS toll free calls	20	13	27										60	414
Peoria Fire Incoming Calls	615	458	578										1,651	8,731
TOTAL FIRE INCOMING CALLS	635	471	605	0	1,711	9,145								
Operator Assist Calls/Alarm Calls	828	771	765										2,364	10,763
Ambulance Incoming Calls	321	271	252										844	2,531
ECC Supervisor Incoming Calls	790	764	824										2,378	9,794
Richwoods Dispatcher Incoming Calls	82	73	77										232	985
Downtown Dispatcher Incoming Calls	58	51	65										174	733
Prep 2 Dispatcher Incoming Calls	615	582	581										1,778	8,298
C-MED Dispatcher Incoming Calls	52	29	32										113	458
County Sheriff Dispatcher Incoming Calls	40	46	27										113	524
Fire Dispatcher Incoming Calls	90	51	73										214	1,020
OverFlow Dispatcher Incoming Calls	20	15	10										45	113
Call Taker Incoming Calls	0	3	0										3	12
TOTAL INCOMING EXTENSION CALLS	1,747	1,614	1,689	0	5,050	21,937								
TOTAL OUTGOING EXTENSION CALLS	57	35	42										134	67,135
Peoria Police Dispatches/On view	7,686	6,794	7,682										22,162	101,724
Peoria County Sheriff Dispatches/On view	2,683	2,350	2,575										7,608	29,166
TOTAL POLICE DISPATCHES/ON VIEW	10,369	9,144	10,257	0	29,770	130,890								
Air National Guard Fire Dispatches	8	5	4										17	71
Akron-Princeville Fire Dispatches	19	14	24										57	231
Brimfield Fire Dispatches	46	23	26										95	378
Dunlap Fire Dispatches	38	27	35										100	373
Elmwood Fire Dispatches	13	12	10										35	142
Limestone Fire Dispatches	117	117	111										345	1,357
Logan-Trivoli Fire Dispatches	44	38	42										124	443
Peoria Fire Dispatches	1,613	1,424	1,546										4,583	18,637
Timber-Hollis Fire Dispatches	32	22	37										91	345
Tuscarora Fire Dispatches	1	3	9										13	48
West Peoria Fire Dispatches	44	43	46										133	547
MABAS Fire Calls	1	3	8										12	41
MABAS EMS Calls	0	0	0										0	0
TOTAL FIRE DISPATCHES	1,976	1,731	1,898	0	5,605	22,613								
AMT Ambulance Dispatches	1,130	945	1,108										3,183	14,975
APA Ambulance Dispatches	15	14	14										43	169
BYE Ambulance Dispatches	73	37	32										142	479
TOTAL AMBULANCE DISPATCHES	1,218	996	1,154	0	3,368	15,623								
Peoria County Coroner Incoming Calls	166	175	230										571	2,190
Community Messaging System Call-outs	15	15	9										39	250
Telephone Trouble Reports Completed	0	0	0										0	5
ETSB Equipment Trouble Reported	5	8	9										22	70
Citizen Concerns	1	3	0										4	40
CD Requests from State's Attorney's Office	7	11	12										30	57
CD Requests from FOI / Subpoena	4	6	10										20	78
CD Requests from Inner Departmental	9	7	8										24	78
Total Number of CD Requests	20	24	30	0	74	213								
ILEAS Call Outs	0	0	0										0	4
JULIE Dig	121	40	85										246	822

Yearly Summary

	Number of Calls	Dispatch Response Time	Police Response Time	Total Time	
PEORIA POLICE					
Urgent	7378	1.16	4.09	5.25	
Routine	7002	11.98	6.17	18.16	
Backlog	416	23.17	8.23	31.39	
PEORIA COUNTY SHERIFF					
Urgent	1180	1.58	6.94	8.53	
Routine	1572	8.75	8.78	17.53	
Backlog	107	27.35	11.21	38.56	
	Number of Calls	Dispatch Response Time	Fire Response Time	Total Time	Average Turnout Time
PEORIA FIRE	4552	0.63	4.46	5.09	1.57

City of Peoria
Emergency Communications Center

Police Department
Urgent Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2015	Number of Calls	90	110	374	183	39	217	111	128	321	230	202	72	74	219	6	113	110	2599			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	1.5	0.8	1.2	1.4	0.8	2.8	0.7	2.0	2.7	2.0	1.4	0.9	1.4	1.3	0.6	1.1	1.7	4278.0	2599	1.65	
	Police Response Time	2.6	3.6	3.0	2.9	2.7	2.9	4.7	3.9	7.8	3.8	4.9	4.3	4.5	6.0	13.2	4.3	6.7	11664.5	2599	4.49	
	Total time	4.1	4.4	4.2	4.3	3.5	5.4	5.9	10.5	5.8	6.3	5.2	5.9	7.3	13.8	5.4	8.4	15942.5	2599	6.13		
February 2015	Number of Calls	77	112	288	125	42	147	92	129	230	191	141	65	56	176	13	123	76	2083			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	0.7	0.6	0.7	0.7	0.6	1.3	0.8	1.5	0.8	1.0	1.7	1.2	1.0	1.0	0.6	1.0	1.4	2055.5	2083	0.99	
	Police Response Time	2.9	3.5	2.9	3.2	3.5	2.8	4.6	3.4	3.8	3.6	4.1	4.5	5.2	6.1	9.7	5.5	6.4	8356.9	2083	4.01	
	Total time	3.6	4.1	3.6	3.9	4.1	5.4	4.9	4.6	4.6	5.8	5.7	6.2	7.1	10.3	6.5	7.8	10412.4	2083	5.00		
March 2015	Number of Calls	98	124	420	188	57	241	125	136	341	218	187	86	86	208	8	82	91	2696			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	0.6	0.6	0.9	1.1	0.5	0.7	0.9	0.7	1.0	0.8	0.8	0.6	0.6	1.1	0.7	0.8	1.3	2309.4	2696	0.86	
	Police Response Time	2.7	3.3	2.9	2.9	3.3	2.8	4.1	3.1	3.4	3.5	4.7	4.7	4.8	6.2	10.1	4.0	6.8	10169.5	2696	3.77	
	Total time	3.3	3.9	3.8	4.0	3.8	3.5	5.0	3.8	4.4	4.3	5.5	5.3	5.4	7.3	10.8	4.8	8.1	12478.9	2696	4.63	
YEAR TO DATE TOTALS AND AVERAGES																						
	Total Number of Calls																	7378				
	Total Number of Exceptions																	0				
	Average Dispatch Response Time																	1.16				
	Average Police Response Time																	4.09				
	Average Total Time																	5.25				

City of Peoria
Emergency Communications Center

Police Department
Routine Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average		
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19						
January 2015	Number of Calls	64	143	235	135	77	125	133	118	256	198	180	111	89	228	8	144	92	2336			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	11.2	7.5	8.8	9.0	7.6	8.5	11.2	8.9	15.0	15.3	12.6	12.9	11.5	14.6	16.0	10.1	10.1	26693.0	2336		11.43		
	Police Response Time	4.8	5.3	5.2	4.0	6.0	4.2	6.2	6.5	4.9	6.1	6.4	6.7	8.0	8.9	11.9	7.0	8.7	14408.4	2336		6.17		
	Total time	16.0	12.8	14.0	13.0	13.6	12.7	17.4	15.4	19.9	21.4	19.0	19.6	19.5	23.5	27.9	17.1	18.8	41101.4	2336		17.59		
February 2015	Number of Calls	54	133	242	130	83	96	109	99	226	159	131	105	86	208	2	171	113	2147			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	10.7	9.8	9.6	14.4	10.7	8.6	11.7	9.9	15.6	11.4	10.8	13.2	10.1	14.1	7.0	11.4	10.4	25118.1	2147		11.70		
	Police Response Time	4.6	5.9	5.3	4.8	5.9	5.1	6.4	5.8	5.8	5.9	6.8	7.4	7.2	9.4	17.0	8.4	8.4	13862.1	2147		6.46		
	Total time	15.3	15.7	14.9	19.2	16.6	13.7	18.1	15.7	21.4	17.3	17.6	20.6	17.3	23.5	24.0	18.4	18.8	38980.2	2147		18.16		
March 2015	Number of Calls	83	129	274	147	81	127	128	127	325	189	150	106	95	267	2	157	132	2519			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	9.8	11.8	11.7	12.3	9.9	13.4	15.9	10.7	13.5	14.6	14.3	10.3	10.0	16.7	2.0	9.8	13.0	32298.5	2519		12.82		
	Police Response Time	3.8	5.6	4.6	4.4	7.4	4.3	5.8	5.5	5.1	5.1	6.6	6.6	6.8	7.7	10.0	7.3	8.7	14858.8	2519		5.90		
	Total time	13.6	17.4	16.3	16.7	17.3	17.7	21.7	16.2	18.6	19.7	20.9	16.9	16.8	24.4	12.0	17.1	21.7	47157.3	2519		18.72		
YEAR TO DATE TOTALS AND AVERAGES																								
	Total Number of Calls																				7002			
	Total Number of Exceptions																				0			
	Average Dispatch Response Time																				11.98			
	Average Police Response Time																				6.17			
	Average Total Time																				18.16			

City of Peoria
Emergency Communications Center

Police Department
Backlog Calls for Service
By Police District

	Police District	VALLEY								BLUFF				RICHWOODS						Total Calls	(total min/total calls)	
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2015	Number of Calls	1	2	34	5	1	3	6	3	10	11	13	14	15	16	17	18	19	114			
	Exceptions	1	2	34	5	1	3	6	10	11	10	5	6	4	12	1	0	3	0			
	Dispatch Response Time	6.0	20.5	6.6	0.0	1.0	10.0	39.5	7.8	19.4	54.1	32.6	8.5	6.8	14.3	27.0	0.0	5.3	1827.5	114	16.03	
	Police Response Time	8.0	10.1	14.2	0.0	0.0	6.0	8.7	4.4	6.8	5.0	4.0	13.7	5.0	10.9	3.0	0.0	10.0	1036.0	114	9.09	
	Total time	14.0	30.6	20.8	0.0	1.0	16.0	48.2	12.2	26.2	59.1	36.6	22.2	11.8	25.2	30.0	0.0	15.3	2863.5	114	25.12	
February 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	148			
	Exceptions	6	32	10	5	3	5	12	9	8	8	11	6	7	11	1	7	7	0			
	Dispatch Response Time	26.0	25.2	11.9	53.8	20.0	17.0	7.5	28.4	22.1	27.7	32.8	10.5	68.1	61.1	8.0	8.1	23.3	4039.8	148	27.30	
	Police Response Time	4.3	8.9	4.6	5.4	5.3	3.5	8.7	6.0	5.4	3.7	9.8	8.3	8.2	12.5	16.0	7.6	10.4	1142.7	148	7.72	
	Total time	30.3	34.1	16.5	59.2	25.3	20.5	16.2	34.4	27.5	31.4	42.6	18.8	76.3	73.6	24.0	15.7	33.7	5182.5	148	35.02	
March 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	154			
	Exceptions	4	33	14	14	2	11	8	3	18	8	10	3	3	10	0	3	10	0			
	Dispatch Response Time	29.3	17.8	20.8	53.8	26.5	22.3	20.8	11.7	22.6	24.8	31.6	13.0	16.0	43.9	0.0	0.5	33.3	4030.5	154	26.17	
	Police Response Time	4.5	9.4	8.0	5.9	2.5	4.5	7.6	9.0	7.2	7.5	7.3	6.0	20.0	9.0	0.0	7.3	9.4	1211.6	154	7.87	
	Total time	33.8	27.2	28.8	59.7	29.0	26.8	28.4	20.7	29.8	32.3	38.9	19.0	36.0	52.9	0.0	7.8	42.7	5242.1	154	34.04	
YEAR TO DATE TOTALS AND AVERAGES																						
																		Total Number of Calls			416	
																		Total Number of Exceptions			0.0	
																		Average Dispatch Response Time			23.17	
																		Average Police Response Time			8.23	
																		Average Total Time			31.39	

City of Peoria
Emergency Communications Center

Peoria Fire Department
Fire Calls for Service
By Fire Map

	Fire Map	VALLEY				BLUFF			RICHWOODS					Total Calls	Total Minutes	Calls	Average	
		100-199	200-299	400-499	1200-1299	300-399	1000-1099	1100-1199	1300-1399	1500-1599	1600-1699	1900-1999	2000-2099					
January 2015	Number of Calls	279	113	205	69	124	159	107	231	50	144	76	54	1611			(total min/total calls)	
	Dispatch Response Time	0.6	1.2	0.6	0.2	1.0	0.9	0.6	0.6	0.7	0.8	0.8	0.8	1163.9	1611	0.72		
	Fire Response Time	3.5	3.9	4.2	5.9	4	4.9	4.6	4.7	5.2	5.1	6.4	6.2	7353.9	1611	4.56		
	Total time	4.1	5.1	4.8	6.1	5.0	5.8	5.2	5.3	5.9	5.9	7.2	7.0	8517.8	1611	5.29		
February 2015	Number of Calls	257	100	185	62	133	125	92	198	40	133	62	31	1418			(total min/total calls)	
	Dispatch Response Time	0.4	0.3	0.8	0.5	0.7	0.6	0.2	0.3	1.2	0.8	0.6	0.3	758.6	1418	0.53		
	Fire Response Time	3.5	4.2	4.3	5.9	4.2	5	4.4	4.8	5	4.6	6.1	6.5	6411.1	1418	4.52		
	Total time	3.9	4.5	5.1	6.4	4.9	5.6	4.6	5.1	6.2	5.4	6.7	6.8	7169.7	1418	5.06		
March 2015	Number of Calls	246	74	212	119	158	138	96	203	39	141	59	38	1523			(total min/total calls)	
	Dispatch Response Time	0.5	0.9	0.3	0.4	0.8	0.8	0.8	0.8	1.3	0.5	0.4	0.6	944.4	1523	0.62		
	Fire Response Time	3.5	5.3	4.1	3.9	3.9	4.6	4	4.5	5.1	4.8	5.8	5.2	6550.5	1523	4.30		
	Total time	4.0	6.2	4.4	4.3	4.7	5.4	4.8	5.3	6.4	5.3	6.2	5.8	7494.9	1523	4.92		
YEAR TO DATE TOTALS AND AVERAGES																		
									Total Number of Calls								4552	
									Average Dispatch Response Time								0.63	
									Average Fire Response Time								4.46	
									Average Total Time								5.09	

Peoria Fire Department
Average Turn-Out Time for Each Apparatus

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	Yearly Average
B1	1.5	1.5	1.4										1.47
E1	1.5	1.5	1.5										1.50
R1	1.4	1.4	1.5										1.43
T1	1.9	1.8	1.7										1.80
E10	1.4	1.5	1.5										1.47
E12	1.7	1.6	1.6										1.63
E13	1.6	1.5	1.5										1.53
T14	1.7	1.7	1.8										1.73
E15	1.7	1.8	1.6										1.70
E16	1.7	1.6	1.4										1.57
E19	1.7	1.6	1.7										1.67
E2	1.7	1.7	1.6										1.67
R2	1.4	1.4	1.3										1.37
E20	1.8	1.9	1.7										1.80
B3	1.6	1.6	1.6										1.60
E3	1.4	1.3	1.3										1.33
T3	1.5	1.6	1.5										1.53
E4	1.5	1.4	1.5										1.47
T4	1.7	1.5	1.5										1.57
												Department Average	1.57

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Urgent calls for service by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls			
															Total Minutes	Calls	Average
January 2015	Number of Calls	3	1	14	2	95	84	42	14	30	37	74		396		(total min/total calls)	
	Exceptions													0			
	Dispatch Response Time	2.7	0.0	1.8	1.0	1.3	2.1	1.2	1.1	0.2	2.4	0.8		555.0	396	1.40	
	Police Response Time	1.5	27.0	5.1	18.0	7.9	7.2	10.1	9.8	4.3	9.5	3.5		2795.1	396	7.06	
	Total time	4.2	27.0	6.9	19.0	9.2	9.3	11.3	10.9	4.5	11.9	4.3		3350.1	396	8.46	
February 2015	Number of Calls	2	4	7	0	71	84	37	5	28	30	68		336		(total min/total calls)	
	Exceptions													0			
	Dispatch Response Time	0.0	1.5	1.0	0.0	2.6	2.4	1.5	0.7	0.4	1.2	1.2		587.0	336	1.75	
	Police Response Time	3.0	12.8	7.6	0.0	9.3	7.9	9.8	5.3	3.6	10.5	3.6		2484.0	336	7.39	
	Total time	3.0	14.3	8.6	0.0	11.9	10.3	11.3	6.0	4.0	11.7	4.8		3071.0	336	9.14	
March 2015	Number of Calls	5	1	11	1	103	90	50	16	46	36	89		448		(total min/total calls)	
	Exceptions													0			
	Dispatch Response Time	9.7	0.0	5.1	1.0	1.5	1.4	1.3	0.6	1.1	3.3	1.0		719.1	448	1.61	
	Police Response Time	2.6	20.0	4.8	24.0	7.9	6.6	10.7	4.4	3.5	6.7	3.7		2854.4	448	6.37	
	Total time	12.3	20.0	9.9	25.0	9.4	8.0	12.0	5.0	4.6	10.0	4.7		3573.5	448	7.98	
YEAR TO DATE TOTALS AND AVERAGES																	
														Total Number of Calls	1180		
														Total Number of Exceptions	0		
														Average Dispatch Response Time	1.58		
														Average Police Response Time	6.94		
														Average Total Time	8.53		

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Routine calls by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
		Number of Calls	32	3	13	3	100	148	78	19	41	55	65		557	(total min/total calls)
January 2015	Exceptions													0		
	Dispatch Response Time	10.0	7.3	11.8	38.0	7.9	8.4	9.3	11.1	11.6	8.3	6.9		4959.4	557	8.90
	Police Response Time	5.9	15.3	7.3	10.3	11.7	9.0	14.1	9.3	6.0	8.6	5.4		5209.0	557	9.35
	Total time	15.9	22.6	19.1	48.3	19.6	17.4	23.4	20.4	17.6	16.9	12.3		10168.4	557	18.26
February 2015	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
	Number of Calls	40	8	7	2	105	124	48	11	22	42	78		487	(total min/total calls)	
	Exceptions													0		
	Dispatch Response Time	5.3	4.6	8.9	10.5	8.8	7.2	9.1	8.6	4.1	5.0	6.1		3456.3	487	7.10
	Police Response Time	3.9	16.6	12.0	6.0	10.1	8.1	14.5	8.4	4.3	9.7	4.6		4098.9	487	8.42
Total time	9.2	21.2	20.9	16.5	18.9	15.3	23.6	17.0	8.4	14.7	10.7		7555.2	487	15.51	
March 2015	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
	Number of Calls	48	7	18	3	112	117	48	10	35	39	91		528	(total min/total calls)	
	Exceptions													0		
	Dispatch Response Time	7.9	3.2	9.8	24.0	15.3	13.0	5.9	2.6	6.2	9.5	7.0		5418.3	528	10.26
	Police Response Time	4.5	17.1	9.6	15.0	9.6	8.5	12.3	13.8	5.6	12.8	5.2		4520.0	528	8.56
Total time	12.4	20.3	19.4	39.0	24.9	21.5	18.2	16.4	11.8	22.3	12.2		9938.3	528	18.82	
YEAR TO DATE TOTALS AND AVERAGES																
														Total Number of Calls	1572.0	
														Total Number of Exceptions	0	
														Average Dispatch Response Time	8.75	
														Average Police Response Time	8.78	
														Average Total Time	17.53	

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Backlog Calls for Service by District

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls			
		Number of Calls															(total min/total calls)
January 2015	Number of Calls	6	0	1	1	8	6	6	1	1	2	1		33			
	Exceptions													0			
	Dispatch Response Time	71.5	0.0	3.0	1.0	10.6	6.2	13.2	43.0	0.0	2.5	1.0		683.2	33	20.7	
	Police Response Time	16.3	0.0	0.0	15.0	15.0	10.5	12.7	29.0	6.0	13.5	4.0		438.0	33	13.3	
	Total time	87.8	0.0	3.0	16.0	25.6	16.7	25.9	72.0	6.0	16.0	5.0	0.0	1121.2	33	34.0	
February 2015	Number of Calls	7	0	1	0	5	10	5	0	2		1		31			
	Exceptions													0			
	Dispatch Response Time	77.7	0.0	0.0	0.0	6.0	4.9	2.2	0.0	18.5	0.0	2.0		672.9	31	21.7	
	Police Response Time	13.4	0.0	0.0	0.0	10.2	10.4	12.3	0.0	15.5	0.0	1.0		342.3	31	11.0	
	Total time	91.1	0.0	0.0	0.0	16.2	15.3	14.5	0.0	34.0	0.0	3.0	0.0	1015.2	31	32.7	
March 2015	Number of Calls	11	1	6	0	9	6	2	0	0	1	7		43			
	Exceptions													0			
	Dispatch Response Time	104.2	3.0	43.3	0.0	14.9	3.8	3.0	0.0	0.0	1.0	18.8		1704.5	43	39.6	
	Police Response Time	15.7	29.0	0.0	0.0	11.8	5.8	12.0	0.0	0.0	4.0	4.3		400.8	43	9.3	
	Total time	119.9	32.0	43.3	0.0	26.7	9.6	15.0	0.0	0.0	5.0	23.1	0.0	2105.3	43	49.0	
YEAR TO DATE TOTALS AND AVERAGES																	
														Total Number of Calls	107		
														Total Number of Exceptions	0.0		
														Average Dispatch Response Time	27.35		
														Average Police Response Time	11.21		
														Average Total Time	38.56		



SITE PLAN REVIEW BOARD AGENDA

Plans Distributed: March 30, 2015

Comments Due: April 6, 2015

Project ID	Address	Project Type	Project Description
15-58	N CEDAR ST 18-16-103-006	Site Plan Review Board - Zoning Certificate	Cellulose Tank Load Out Building - KS - Council District 1
15-62	10811 N KNOXVILLE AVE 09-29-326-001	Site Plan Review Board - Zoning Certificate	Addition - LA- Council District 5

Staff Contacts:

Name	Leah Allison	Jide Giwa	Josh Naven	Kimberly Smith	Shannon Techie
Initials	LA	JG	JN	KS	ST
Phone	494-8667	494-8611	494-8657	494-8612	494-8649
Email	lallison@peoriagov.org	ogiwa@peoriagov.org	jnaven@peoriagov.org	kismith@peoriagov.org	stechie@peoriagov.org

HOUSING COURT 4/7/15

33 CASES

DG	NO	09:45 AM	FADY PAMELA	HC-15-195	GALE 2051	07-Apr-15	REVIEW
DG	O	09:45 AM	REDDICK/CROOKS	HC-15-198	HANSSLER 0717 W	07-Apr-15	TO POST
DG	O	09:45 AM	CRISS ROBBIE/LATANZA	HC-15-196	LINSLEY 2204	07-Apr-15	REVIEW
DG	O	09:45 AM	STRINGER KATHLEEN	HC-15-199	MACQUEEN 0922	07-Apr-15	REVIEW
DG	NO	09:45 AM	MESSIAH PROPERTIES LLC	HC-15-200	SHERIDAN 2009	07-Apr-15	REVIEW
JS	NO	09:00 AM	HEIM ROGER	HC-14-732	PERRY 0105/0107 SW	07-Apr-15	REHEARING/DEFAULT \$15000
JS	C	09:00 AM	ALI/QASEM/THABET	HC-14-687	WISCONSIN 1920	07-Apr-15	REVIEW
LA	O	09:45 AM	LYONS LULA	HC-14-655	KNOLL CREST 0635	07-Apr-15	REVIEW
LA	O	09:00 AM	GLUCK-MUNSON CARLA	HC-15-264	MISSOURI 1629	07-Apr-15	FIRST APPEARANCE
LA	O	09:45 AM	WEGNER WILLIAM/KELLY	HC-15-095	VIRGINIA 0724 E	07-Apr-15	REVIEW
LE	O	09:00 AM	SHEERIN BRENDAN	HC-15-267	COLUMBIA TERR 1416	07-Apr-15	FIRST APPEARANCE
LE	NO	09:00 AM	MIRANDA MARIANNE	HC-15-270	FLORA 1119	07-Apr-15	FIRST APPEARANCE
LE	NO	09:00 AM	LIVWELL INVESTMENTS LLC	HC-15-266	INSTITUTE 1116	07-Apr-15	FIRST APPEARANCE
LE	NO	09:00 AM	GRANT EMMA	HC-15-265	ORANGE 1119	07-Apr-15	FIRST APPEARANCE
LE	O	09:00 AM	HALLAM STEPHANIE	HC-15-268	SHERIDAN 1113	07-Apr-15	FIRST APPEARANCE
PM	O	09:00 AM	WILLIAMS YOULONDA	HC-15-081	ARCADIA 0907 E	07-Apr-15	REVIEW
PM	NO	09:00 AM	BARNETT CARRIE	HC-15-273	BEHRENDTS 0903 E	07-Apr-15	FIRST APPEARANCE
PM	O	09:00 AM	KARL BAKSAI ESTATE	HC-15-257	BEHRENDTS 0907 E	07-Apr-15	FIRST APPEARANCE
PM	O	09:00 AM	SWITZER WILLIAM	HC-15-269	CENTRAL 2408	07-Apr-15	FIRST APPEARANCE
PM	O	09:00 AM	BRUGGEMAN EDWIN	HC-15-260	CENTRAL 2416	07-Apr-15	FIRST APPEARANCE
PM	NO	09:00 AM	ADAMS CAROL	HC-15-232	FORREST HILL 1208 E	07-Apr-15	REVIEW
PM	O	09:00 AM	LANGE RONALD	HC-15-263	KANSAS 0912 E	07-Apr-15	FIRST APPEARANCE
PM	NO	09:00 AM	WEEKS DARREN	HC-15-047	KANSAS 1018 E	07-Apr-15	REVIEW
PM	O	09:00 AM	WILLIAMS DELOIS	HC-15-261	KANSAS 1101 E	07-Apr-15	FIRST APPEARANCE
PM	O	09:00 AM	GEORGE GOLL ESTATE	HC-15-259	MARYLAND 2310	07-Apr-15	FIRST APPEARANCE
PM	NO	09:00 AM	YOUNGBLOOD LARRY	HC-15-256	PARIS 1401	07-Apr-15	FIRST APPEARANCE
PM	O	09:00 AM	CUMMINGS DONALD	HC-14-724	REPUBLIC 0809 E	07-Apr-15	REVIEW
PM	NO	09:00 AM	CONSOLIDATED PROPERTIES	HC-15-078	SPRING 0702/704	07-Apr-15	REVIEW
PM	O	09:00 AM	LILLY JEROME/KIMBERLY	HC-15-258	VIRGINIA 0807 E	07-Apr-15	FIRST APPEARANCE
ROB	C	09:00 AM	JASON CATTON INC	HC-15-272	ADAMS 2212 SW	07-Apr-15	FIRST APPEARANCE
ROB	C	09:00 AM	SWAN FASHION & BEAUTY INC	HC-15-274	ADAMS 4103 SW	07-Apr-15	FIRST APPEARANCE
ROB	C	09:00 AM	CARVER JAMES	HC-15-271	KNOXVILLE 1514	07-Apr-15	FIRST APPEARANCE
ROB	C	09:00 AM	NIETO NICOLAS	HC-15-174	WISCONSIN 2103	07-Apr-15	REVIEW

NUMBER OF CODE CASES 37

PAID	LEGAL CASE	DEFENDANT	PROPERTY ADDRESS	FINE AMOUNT	INSPECTOR	DISPOSITION
	15-CV-0207	ALEXANDER, LAWRENCE	2415 N LINN ST	\$50	DG	DISMISSED
	15-CV-0213	ANDRADA, WILMER	1817 N MISSOURI AVE	\$50	LA	
	15-CV-0203	ANDRADA, WILMER	1212 N BOURLAND AVE	\$50	LE	
	15-CV-0200	ANDRADA, WILMER	1631 S LIVINGSTON ST	\$250	SCA	
	15-CV-0249	BAILEY, TONYA	737 E KANSAS ST	\$50	LA	
	15-CV-0208	CARRERA, OLIVIA	949 NE GLEN OAK AVE	\$50	PM	
	15-CV-0170	CHILDREN'S HOMES ASSOCIATION	400 E FRYE AVE	\$50	LA	REVIEW 4/14/15
	15-CV-0209	DANZ, WARREN	5207 N KNOXVILLE AVE	\$100	PM	
	15-CV-0283	DAVIS, STERLING L.	310 E FRYE AVE	\$50	LA	
	15-CV-0201	DEWITTE, MICHAEL	2143 N MARYLAND ST	\$100	PM	
	15-CV-0227	DJB INVESTMENTS LLC SERIES A	1321 N BOURLAND AVE	\$50	LE	
	15-CV-0215	ESPINOZA, CESAR	321 W ARMSTRONG AVE	\$50	LE	
	15-CV-0206	FINLAND PROPERTIES	613 W HANSSLER PL	\$50	DG	
X	15-CV-0204	HARRIS, ROOSEVELT	1816 N MACHIN AVE	\$50	DG	DISMISSED - PAID
	15-CV-0210	KAISERSHOT, JAMI	2310 NE PERRY AVE	\$50	PM	
	15-CV-0202	LEMAN, MARK	1606 NE MADISON AVE	\$50	PM	DISMISSED
	15-CV-0042	MACK, BRYAN	3034 N WISCONSIN AVE	\$300	NR	REVIEW - 4/14/15
	15-CV-0214	MAIN STREET COMMONS LLC	1018 N BOURLAND AVE	\$50	LE	
	15-CV-0225	MORGAN, DONNA J.	1220 N ELLIS ST	\$50	LE	
	15-CV-0205	OWENS, CONSTANCE	820 W VIRGINIA AVE	\$50	DG	
X	15-CV-0228	PEMBER, LARRY	1014 W CHESTER ST	\$50	LE	DISMISSED - PAID
	15-CV-0229	PIERSON, RICHARD	1205 N DOUGLAS ST	\$100	LE	
	15-CV-0222	ROBERTSON, EUNICE	519 W COLUMBIA TER	\$50	LE	
	15-CV-0281	ROBINSON, RANDOLPH	1828 N MISSOURI AVE	\$50	LA	
	15-CV-0211	ROTRAMEL, MICHAEL	1015 NE GLEN OAK AVE	\$100	PM	
	15-CV-0212	SAM PROPERTIES LLC	1100 E NEBRASKA AVE	\$100	PM	
	15-CV-0238	SCHUMACHER, DALE	1821 N CALIFORNIA AVE	\$50	LA	
	15-CV-0217	SEEGERS, TYTESHA	901 W ELEANOR PL	\$50	DG	
X	15-CV-0230	SHEAR, MARK	1310 N ELLIS ST	\$50	LE	DISMISSED - PAID
	15-CV-0045	SHOUMAKER, JEFFRY	1831 N WISCONSIN	\$50	LA	1ST APPEARANCE CONTINUED
	15-CV-0223	SULLIVAN, WILLIAM	1026 N ELMWOOD AVE	\$50	LE	
	15-CV-0231	TONCRAY, LAURA	705 W MEADOWS PL	\$50	DG	
	15-CV-0248	TRAINA, KATHY	3906 N SHERIDAN KNOLLS CT	\$50	LA	
	15-CV-0282	WARFIELD, QUEEN	2009 N CALIFORNIA AVE	\$50	LA	
	15-CV-0216	WILLIAMSON, MAXINE	717 W ARMSTRONG AVE	\$50	LE	
	15-CV-0226	WILSON, DERA	1315 N BROADWAY ST	\$50	LE	
	15-CV-0224	WJOTALIK, YVONNE	1020 N SUMMIT BLVD	\$50	LE	